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,  :   =
CH3ArCH3 – -

,  = 3 rCH 2  -  ,  -
; Y

= [ Co2+ . . . O 2  . . . Mn3+ . . . Hbr] – , -
-

.  [3]:

1. [ Co2+ . . . Mn 2+ . . . Hbr] + 2

1k

 [ Co2+ . . . O 2  . . . Mn3+ . . . Hbr];

2. 2 CH3ArCH3 + [ Co2+ . . . O 2  . . . Mn3+ . . . Hbr]
2k

 2 3 rCH 2  + H2 O + [ Co2+ . . . O- . . . Mn3+ . . .
Hbr];

 3. CH3ArCH3 + 3 rCH 2

3k

 2 3 rCH 2  + H+; (1)

4. 3 rCH 2  + [ Co2+ . . . O- . . . Mn3+ . . . Hbr]
4k

 CH3 ArCH2 OH + OH - + 2 [ Co2+ . . . Mn3+ . . . Hbr];

 [ Co2+ . . . Mn 2+ .  .  .  Hbr] - -
; [ Co2+ . . . O 2  . . . Mn3+ . .

. Hbr], [ Co2+ .  .  .  O- .  .  .  Mn3+ .  .  .  Hbr], [ Co2+ .  .  .
Mn3+ . . . Hbr] – ;

3 rCH 2  -  ; 2 – -
; H2 O , H+, CH3 ArCH2 OH , OH -

- . -
,

 (1) . -
. -

 Pi –  (i = 1. . . 5) ,  = [
Co2+ . . . Mn 2+ . . . Hbr] :

1.  + 2

1k

 Y;

2. 2 A + Y
2k

 2 X + P1;  (2)

3. A + X
3k

 2 X + P2;

4. X + 2 Y
4k

 P3 + P4 + P5 .
: k1 = 1, 6  10 3

(( ) -1 ) ; k2 = 1, 3 (( )2 -1 ); k3 = 2  10 2 (( ) -1 ) ; k4 = 4  103 (( )2 -1 ) . -
 (2)  :

X  = 2 k2 A2 Y - k4 X Y2 + k3 A X;

Y  = k1 1 B - k2 A2 Y - k4 X Y2; (3)



518

12, 2007

B - , 1 – -
. :

X = (k2/ k4 ) A x ; Y = (k3 / k4 ) y ; t = (  / (A2 k2 ) .
 (3) :

d
dx  = a0 y - a1 xy2 + a2 x; (4)

d
dy  = b0 - y - b1 xy2 ;

a0 = (2 k3/ k2 A) , a1 = (k 2
3 / k4 k2 A2 ), a2 = (k3 / k2

A), b0 =  (k1 k4 K1B / k2 k3 A2 )  b1 =  ( k3/ k4 A )  –
. -

 (4) 
. , -

-
 - T = 205 0 C, P = 26 . . 

, 
:

 y1 = 1,6 102 ; x1 = 1,0 103. (5)

, 
y1, x1 . -
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 — 26,2±0,14 .  — 
(31,8±0,04 .)  (31,6±0,21 .). 

2 2
-

, 
. -

,  - 46,2±0,05 .
 87,5±0,01 ., .


